Transfers Report

This report contains the transfers results.

Contest Name	Ward 5 - Paisley East and Central	
Valid Votes		3,829
Positions to be Filled		3
Quota		958

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Athol BOND	Scottish Green Party	293
John CAMERON	Scottish Conservative and Unionist	418
Carolann DAVIDSON	Scottish Labour Party	1,040
Duncan GRANT	Scottish Libertarian Party	45
John MCNAUGHTAN	Scottish National Party (SNP)	1,241
Will MYLET	Scottish National Party (SNP)	486
Jonathan SMITH	Scottish Labour Party	306
	Total	3,829

Candidate Carolann DAVIDSON Elected with 1,040 votes, being in excess of the quota of 958 Candidate John MCNAUGHTAN Elected with 1,241 votes, being in excess of the quota of 958

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of John MCNAUGHTAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Athol BOND	76	0.22804	17.33104
Transfer to Will MYLET	1,074	0.22804	244.91496
Transfer to Jonathan SMITH	29	0.22804	6.61316
No further preference	55	0.22804	12.54220
Not transferred due to rounding			0.00236
	Total		283.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Carolann DAVIDSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Athol BOND	50	0.07884	3.94200
Transfer to John CAMERON	39	0.07884	3.07476
Transfer to Will MYLET	42	0.07884	3.31128
Transfer to Jonathan SMITH	821	0.07884	64.72764
No further preference	80	0.07884	6.30720
Not transferred due to rounding			0.00640
	Total		82.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Duncan GRANT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Athol BOND	8	1.00000	8.00000
Transfer to John CAMERON	11	1.00000	11.00000
Transfer to Will MYLET	8	1.00000	8.00000
Transfer to Jonathan SMITH	7	1.00000	7.00000
Transfer to Athol BOND	3	0.07884	0.23652
Transfer to John CAMERON	2	0.07884	0.15768
Transfer to Jonathan SMITH	2	0.07884	0.15768
No further preference	11	1.00000	11.00000
No further preference	3	0.22804	0.68412
No further preference	1	0.07884	0.07884
Not transferred due to rounding			0.00000
	Total		46.31484

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Athol BOND

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John CAMERON	23	1.00000	23.00000
Transfer to Will MYLET	164	1.00000	164.00000
Transfer to Jonathan SMITH	58	1.00000	58.00000
Transfer to John CAMERON	2	0.22804	0.45608
Transfer to Will MYLET	53	0.22804	12.08612
Transfer to Jonathan SMITH	5	0.22804	1.14020
Transfer to John CAMERON	2	0.07884	0.15768
Transfer to Will MYLET	7	0.07884	0.55188
Transfer to Jonathan SMITH	27	0.07884	2.12868
No further preference	56	1.00000	56.00000
No further preference	16	0.22804	3.64864
No further preference	17	0.07884	1.34028
Not transferred due to rounding			0.00000
	Total		322.50956

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Jonathan SMITH

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John CAMERON	90	1.00000	90.00000
Transfer to Will MYLET	79	1.00000	79.00000
Transfer to John CAMERON	2	0.22804	0.45608
Transfer to Will MYLET	13	0.22804	2.96452
Transfer to John CAMERON	183	0.07884	14.42772
Transfer to Will MYLET	137	0.07884	10.80108
No further preference	202	1.00000	202.00000
No further preference	19		
•		0.22804	4.33276
No further preference	530	0.07884	41.78520
Not transferred due to rounding			0.00000
	Total		445.76736